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Simplify the following expressions.
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Find the sum or difference.

(3-7m) + m (4a - .@ 5. !ﬂ &_;;q

2 3-Tm + Q(&‘Sm\ﬂ@)s Lm 5-8@9 S00) ~ ?5(%3
A ImEa, SeSedlacad | , 2.6(119)
—Tm +TM§%*7" Yo +aCa koD ) 2 (ng;
Factor out the coefﬁcxent oﬁ:e variable. Lchk 5) q s —5—'
6. 20% +, . (:) . ggﬁ 7. E—?k —.11 6 o% 8. wl f/x—_‘—g
b ‘Q’b' — 0 B (/%"\Q\-\O 5 -9
‘Qo (Qc(xvt— C‘) | ‘ . _L | ) &, =

8. Write an expression that represents the perimeter of the poly E
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in simplest form that represents the measure of the third side, then SOLVE.




Solve the equation. Check your solution.
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